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1. The numbers which contain only even digits in their decimal representations are written in ascending order such that

2, 4, 6, 8, 20, 22, 24, 26, 28, 40, 42

What is the 2014th number in the sequence?
(A) 66480

(B) 64096

(C) 62048

(D) 60288

(E) None of the preceding
2. What is the product of real numbers a which make 
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 a negative integer for only one real number x?
(A) -1                    (B) -2                     (C) -4                 (D) -6                     (E) -8
3. If the integers 1, 2, . . . , n can be divided into two sets such that each of the two sets does not contain the arithmetic mean of its any two elements, what is the largest possible value of n?
(A) 7


(B) 8


(C) 9


(D) 10


(E) None of the preceding
[image: image1.wmf]2

1

xax

++


4. Let D be a point on side [BC] of 
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 such that 
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. If the incircles of 
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 touch side [AD] at E and F, respectively, what is 
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(A) 
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(B)
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(C) 1



(D)
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(E) 2
5. How many pairs of integers (m, n) are there such that 
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(A) 16



(B) 12



(C) 8



(D) 6



(E) 2
6. For how many different primes p, there exists an integer n such that 
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(A) 3


(B) 2


(C) 1


(D) 0


(E) Infinitely many
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7. Let E be the midpoint of side [AB] of square ABCD. Let the circle through B with center A and segment [EC] meet at F. what is 
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(A) 2                        (B) 
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                        (D) 3                     (E) 
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 where x, y are real numbers, what is 
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(A) 7



(B) 6



(C) 5



(D) 4



(E) 3
9. The integers -1, 2, -3, 4, -5, 6 are written on a blackboard. At each move, we erase two numbers a and b, then we re-write 
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 How many of the sextuples (0, 0, 0, 3, -9, 9),                       (0, 1, 1, 3, 6, -6), (0, 0, 0, 3, -6, 9), (0, 1, 1, -3, 6, -9), (0, 0, 2, 5, 5, 6) can be gotten?
(A) 1



(B) 2



(C) 3



(D) 4



(E) 5
10. Which one below cannot be expressed in the form
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, where x and y are integers? 
(A) 59170


(B) 59012


(C) 59121


(D)
59149

(E) 59130
11. What is the largest possible value of 
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 where x is a positive real number?  
(A) 
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(B) 
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(C) 
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(D) 
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(E) None of the preceding
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12. Let D be a point on side [BC] of 
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 such that
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 If the B- altitude of 
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 meets AD at E, what is 
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(A) 
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(B) 1



(C) 
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(D) 
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(E) 
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13. What is the sum of distinct real numbers x such that 
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(A) 3


(B) 
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(C) 4


(D) 
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(E) None of the preceding
14. Let 
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 be the smallest prime which divides 
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 What is the remainder when the sum 
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 is divided by 8?
(A) 1


(B) 3


(C) 5


(D) 7


(E) None of the preceding
15. What is the minimum value of
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where x is a real number?
(A) 
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(B) 
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(C) 
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(D) 
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(E) None of the preceding
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16. Let ABCD be a convex quadrilateral such that <DAB=<CBD =1200, 
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 If the line through C which is parallel to AB meets AD at E, what is 
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(A) 10



(B) 9



(C) 8



(D) 7



(E) 6
17. What is the remainder when 
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 is divided by 121?
(A) 45



(B) 34



(C) 23



(D) 12



(E) 1
18. Let 
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 denote the number of positive divisors of positive integer n. What is the largest prime divisor of the sum of numbers 
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(A) 5


(B) 7


(C) 11


(D) 13


(E) None of the preceding
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19. Let ABCD be a convex quadrilateral such that <ADB=150, <BCD=900. The diagonals of quadrilateral are perpendicular at E. Let P be a point on 
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 such that 
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 What is <PBD    
(A) 
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(B) 
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(C) 
[image: image64.wmf]0

45

 



(D) 
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(E) 
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20. How many non-negatives integer triples (m, n, k) are there such that 
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(A) 1


(B) 2


(C) 3


(D) 4


(E) None of the preceding
------------------------------------END--------------------------------------
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